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Il Semester B.Com. Examination, November/December 2016
(2015-16 & Onwards) (CBCS) (F+R)
COMMERCE
3.6 : Quantitative Analysis for Business Decision - Il

Time : 3 Hours ' Max. Marks : 70

Instructions : Answers should be written completely either in Englishorin

Kannada.
SECTION - A

1. Answerany five sub-questions. Each sub question carries two marks. (5x2=10)

a) What is meant by perfect correlation ?
R) ‘WO’ RBHOWOT DOWSER ?

b) State the assumptions of interpolation.
J) ‘QoRT RRUeS BOINYRY, 236000,
)
)
)

¢) State the components of time series. =
) ‘A0 AT @Ofﬁﬁwﬁ?b SDR).

d) If bxy = 1.2, byx = 0.8, obtam e
@) bxy = 1.2, byx = 0.8 &35, ‘1’ 8om0&R00.
e) State any two merits of sampling.
) "WREY oD euBcdRennds) EA.
f) What are mutually exclusive events ?

DF°) WORT DR B30T 0BT 9

g) Distinguish between ‘parameter’ and ‘statistic’.

%) "SRORWELI0T BB ALIAT BRI FITANIR) SV,

SECTION-B

Answer any three questions from the following. Each question carries six marks.

, (3x6=18)

2. Itis known that the population S.D in waiting time for new gas connection in a
particular town is 25 days. How large a sample should be chosen with an allowable
error of 6 days of the true average waiting time, at 95% confidence level ?
(Z value at 95% confidence level = 1.96).

2000 SN B MoXF RosF BR300 TR 25360 &RR023,03 BI9es3 WO
25 QTN fauo dcué 2083, 95% ©9 , TWONSRLRT IFHsH, E’Ou:sacj Slepytelovbleiai
6 TR O30T @ﬁ@o&ndﬁ “Rngochd mé DT, ?

(Reods: Bowd =ow, 95% 3 =PY = 1.96).
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3. A single card is chosen at random from a standard deck of 52 playing cards.
What is the probability of choosing
a) Akingoraclub ?
b) Akingoraqueen?
52 ety DSNFD 2,00 HSODT 503 DRBTN
a) O3 BT U DS0R SRos0D ROLTEES R, ?
b) Tt e T3 HEO3R), Bro30R RoLIOES ), ?

4. FEind the index number for 2006 from the following table of index numbers, using
binomial expansion method.

Year: | 2004 |2005| 2007 | 2008

Index No. : | 100 | 107 157 212

20063 SR T R, 08533 391 K5O DRONPOT LTROODS* 959 F* VPR,
FOrBO&ER0UD. :

s

==le: | 2004 | 2005 | 2007 | 2008

mas%o#: 100 | 107 157 oo

5. The following table shows the mean and standard deviation of prizes of two shares
in a stock exchange.

Shares Mean (in Rs.) | Standard deviation (in Rs.)

A Ltd. 39.5 10.8

B Lid. 47.5 16

If the correlation coefficient between the prices of two shares is 0.42, find the
most likely price of share A Ltd., corresponding to price of Rs. 55 of share of
B Ltd..

3930% Tesohd Feo* S wfodd RTIR0 B BRPEIT DBOSODR) B eTIFT.

fot | oodd(de) | IIRHSONUR(35.)
A Ltd. 395 108

B Ltd. 47.5 _ 16

FER0200 BN 0.42 T3 ‘B’ O063m'S weds I 8w, 55 00T A DHEETS
K60 L3I0, FOTOLEOD.
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6. Obtain the rank coefficient of correlation from the following data.

Prize of Tea (Rs.) 75 | 88 95 < |- 70| B0 B0 81 50

Prize of Coffee (Rs.) : | 120 | 134 .1.50 116 | 110 | 140 | 142 | 100
3911 BRLIEHR T2 0B00R AT B 09,08° FBH0LI0T BILIBRR FOREBOID.

wmenS(cne.) | 75 | 88 | 95 | 70 | 60 | 80 | 81 | 50

meﬁdbaﬂﬁj(&ra) 120 | 134 | 150 | 1156 110 | 140 | 142 | 100

SECTION-C

Answer any three questions from the following. Each question carries
fourteen marks. (3x14=42)

7. The following data relates to the number of passenger car (in Millions) sold from
2000 to 2006.

Year: | 2000 | 2001 2002 | 2003 | 2004 | 2005 | 2006

Number : 6.7 53 4.3 6.1 56 79 58

a) Fita straight line trend to the data and obtain the trend values.
b) Estimate the sale of cars for the year 2010.

BY BRETIT BIR&E, 2000 00T 2006T &I WRRTIT FITINEG SPTW
(2000557199,

SR 2000 | 2001 2002 | 2003 | 2004 | 2005 | 2006

Seoew el 6.7 | 5.3 43 | 6.1 5.6 7.9 .1..68
a) BRLT w08 OB XTY B3 Gotomd BRODR, BT BIPONER), FOROELECID.
b) 20108 SRe T TS PDTOLIFRI, OO |

8. From the following data, find out the number of students who secured more than
40 but less than 45 marks. *

Marks : 30-40 | 40-50 | 50-60 | 60-70 | 70-80

No. of students : | 31 42 S 30 31 ]
391t ER4I00R TR &S0B40803 T STF45 e203reNe SR BREODHN DFHFY
%023, 0393 5T8EBCI0,

WOBNTY: 30-40 | 40-50 | 50-60 | 60-70 | 70-80.

éimﬁaﬁs'r{#ﬁoa%: 31 42 51 35 - &1
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9. From the following data on six cities, calculate the coefficient of correlation
between density of population and death rate.

City : A B C D E E
Density of population : | 200 500 400 700, 600 300
Population ('000) : 30 90 40 42 2 24
No. of deaths : 300 | 1440 560 840 1224 312

397 BRHDHS SRkicid wEmenE W% ‘T FRR'E A00N AER0w0T

ABMOEITR BOTDEBCD.
8no: A B c D E F
wEKosd mon3: 200 | 500 | 400 | 700 | 600 | 300
SRREEVE 30 90 40 42 72 24
5000 Ros, 300 | 1440 | 560 | 840 | 1224 | 312
10. Estimate the revenue generated for the year 2013 and 2015 from the fOiIowing
table. .
Year : 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
Revenue (Rs. in Crores): | 100 | 120 | 150 | - | 210 | - [320
2013 2052015 3¢ SRE 7Y S0 SUSIIR ST, g
mRE 2010 | 2011 | 2012 | 2013 | 2014 | 2015 | 2016
T30 (Bmeesce.) | 100 | 120 | 150 - oo L 320

X 40

50

38

60

65

50

35

Y 38

60

55

70

60

48

30

X 40

50

38

60

65

1 50

35

Y 38

60

55

70

60

48

30

11. Obtain the two regression equations from the following data and estimate the
value of X when Y = 50 and the value of Y when X = 45.

591 B 3000 wOR> BouSod REOMENE) om0k acs0 R Y = 50 Ayt
X ettty o3y X = 45 amrl 'Y’ tigan BorbeBetd.




